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= Reading Comprehension

Read the following passages carefully, and then answer the questions that
follow. base your answers on the information in the passages only.

Passage 1

In a purely rational world, vaccination rates would fluctuate constantly, Wy

depending on how much people fear getting sick. That’s why attempts have been
made to model vaccination rates mathematically. But now, scientists have found

that the missing puzzle piece that explains why vaccination rates stay high in the

real world...... or, in some cases, low. The reason, it turns out, is peer pressure.
Public health officials frequently worry about low levels of childhood
vaccination, often driven by unfounded concerns that vaccines are linked
with autism. But in many nations without mandatory vaccination rules,
rates of childhood vaccination remain surprisingly high, said Tamer Oraby, a
mathematician at the University of Guelph in Ontario, Canada.
The question we wanted to answer is why we are seeing such high vaccination

levels in non-mandatory vaccination programs”, Oraby told Live Science.
1- According to the passage, the vaccination level ...............ccveueeuenneee.

a) has significantly reduced recently

b) is to follow a steady pattern

) has removed the irrational fear among the sick people

d) is affected by people’s worries about catching diseases




o O 0O o

o 0o o o o o o o oo

o o o o

2- The underlined “that” (line 2) refers to .......ceceeveeennee

a) change in the level of vaccination

b) vaccination in a purely rational world

Q) mathematical modeling of vaccination rates
d) people’s fear of becoming sick if vaccinated

3- The underlined term "missing puzzle piece" (line 4) is found to be ......

a) real world b) vaccination rates ) peer pressure | d) some cases

4- The author ............... people’s worries on the link between autism and
Childhood vaccination.

a) confirms b) opposes ¢) justifies d) triggers

5- According to the passage, vaccination rates ..................

a) are not necessarily related to mandatory vaccination programs

b) did not shrink because of mandatory vaccination programs

9 decreased due to mandatory vaccination programs in Ontario

d) elevated due to non-mandatory vaccination programs
Passage 2

Although it is difficult to solve public health problems, great success has
been achieved with certain illnesses. For example, the eradication of smallpox
was one of the most significant accomplishments of the 20th century. When the
campaign against smallpox was launched in 1967, about 10 million people
contracted the disease each year. Of these, two million died.

More than 10 million individuals were disfigured. However, a little more
than a decade later, the smallpox program had met its goal; the last case of this
terrible illness occurred in Somalia in 1977. Following this important
achievement, the World Health Organization tried to recreate its success. The
focus of the next campaign was polio, which can paralyze or kill its victims if it
is untreated. The elimination of this disease is not yet complete, but the number

' 475



of cases has greatly decreased. As the battles against smallpox and polio show,
remarkable advances can be made in the field of public health.

6- According to the text, solving public health problemsiis .................. .

a) incredible| b) unrealistic| c) intrinsic| d) challenging

7- It is said that smallpox .........ccceuce...

a) killed most of its victims around the world

b) could lead to changes in victim’'s appearance
c) is still problematic in some parts of the world

d) is more difficult to overcome than some other infections

8- The battle against polio ........ccccceevueeuenen
a) is still continuing

b) has achieved its goal

c) seems to lead to failure

d) has faced some obstacles ﬂ

9-This paragraph mostly deals with ................. . ’
a) public health successes 1 N
b) future programs of public health ) ‘]
¢) some crucial problems in the field of public health 71
d) public health programs under way by WHO
10- The author of this text seems to be ........ccceevvereenene the future of public
health. .
a) uncertain of b) critical of ) optimistic about d) indifferent to 5
o
Passage 3 o
The term "cognitive health" is often associated with conditions such as |
Alzheimer’s disease, ADHD, depression, etc. While an overwhelming body of o
research and evidence support the idea that cognitive disorders are likely tobe
o
influenced by genetic predispositions and environmental factors, there has also o
o
[m]
[m]
[m]

=



been a great deal of research conducted in an effort to explore the relationship
between nutritional status and cognitive health. It has been found that many
aspects of cognitive health are not only impacted, but also dependent upon
certain nutrients which must be obtained through the diet. Through each stage
of the lifestyle, nutritional status plays a key role in brain development,
cognitive function and health, mood, and even the prevention of certain
neurological and cognitive conditions. The influence that nutritional status has
on cognitive health begins with conception. Beginning in the womb, nutrients
obtained through the diet, in this case of the mother, begin playing a key role
in the development of the brain and nervous system. A woman’s poor
nutritional status before the time of conception can have detrimental effects on
physical and cognitive health.

11- The passage mainly discusses the ..................

a) definition of cognitive condition

b) relationship between food and cognitive disorders

o) different types of cognitive diseases

d) impact of cognitive condition on nutrition

12- The passage implies that .................... .

a) the effect of food on cognitive health is postnatal

b) genetics has a greater influence on cognitive health

Q) cognitive health is exclusively dependent on nutrition

d) mother’s nutrition may prevent some cognitive disorders

13- The passage discusses “a woman’s nutritional Status” to ..........ccceu.e...

a) compare it with child’s nutritional status

b) discuss the speed of mental development

Q) show its impact on a child’s mental development
d) focus on the role of genetics in development



14- According to the passage, the influence of food on cognitive health
starts

a) gradually
b) before conception occurs
) at the time of birth

d) when a sperm joins the ovum

15- The overall tone of the passage is ................

a) scientific and informative b) informative and humorous
¢) subjective and technical d) academic and disbelieving
Passage 4

The use of living animals in research and teaching, while first documented
around 2000 years ago, became prominent in the second half of the 19th
century as part of the development of the emerging sciences of physiology and
anatomy. In the mid 1900s, the rapid expansion of the pharmaceujical and
chemical industries gave rise to an enormous increase in the use of a;fimals in

research. Today, it is a multibillion dollar industry, involving not only the

. | ’ . . . ) D
pharmaceutical and chemical industries, but also university and government 3

bodies. There is, additionally, a sizeable industry providing food supply and
cage manufacture, among many others.

Supporters of animal testing argue that virtually every medical
achievement in the 20th century relied on the use of animals in some way and
that alternatives to animal testing, such as computer modeling, are inadequate
and fail to model the complex interactions between molecules, cells, tissues,
organs, organisms and the environment. Opponents argue that such testing is
cruel to animals and is a poor scientific practice, that results are an unreliable
indicator of the effects in humans, and that it is poorly regulated. They also
point to the fact that many alternatives to using animals have been developed,
particularly in the area of toxicity testing, and that these developments have
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occurred most rapidly and effectively in countries where the use of animals is
prohibited.

16- It is inferred from the first paragraph that research using animals

a) was non-existent before 1850

b) is most common in the medical industry

Q) generates trade for some industries

d) is a government-controlled industry

17- The use of living animals in research and teaching ...............
a) appeared at least two millennia ago

b) rose to prominence around 2000 years ago

o) emerged in the second half of the 19th century

d) originated in the pharmaceutical and chemical industries
18- Animal testing proponents argue that ................... the use of animals in
the 20th century.

a) many of the alternative methods still rely on

b) there is no alternative available except

Q) computer modeling requires more improvement to replace
d) medical advancement would have been hindered without
19- The opponents of animal testing believe that ................

a) countries prohibiting it are developing rapidly

b) its results are unreliable due to poor regulations

Q) there are insufficient rules and restrictions

d) it is justifiable in the area of toxicity testing

20- Those against the idea of animal testing believe that alternatives to this

approach are used in countries where ..........
a) medical achievements are minimal
b) the use of animals is forbidden
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¢) the scientific practice is poor

d) the use of animals is promoted

= Vocabulary

Complete the following sentences, choosing the most appropriate option
(a, b, c, ord).

21- A diet low in important nutrients can .............. the body’s immune
system and make it harder for the body to fight off infection.

a) enhance | b) sustain ¢) compromise | d) invigorate

22- In a case-control study, the subjects are only observed, and there is no

................... such as drug treatment or surgery.
a) transmission | b) intervention| c) screening d) exposure
23- Cardiopathy is a non-specific term which is ............. diseases of the heart.

a) incorporated in| b) enforced in | ¢) applicable to | d) endorsed by

24- When the person knows enough about stress management skills, he/she
finds it easier to .......... his/her distress.

a) accompany | b)amplify | c) replicate | d) overcome

25- The diseases in a society form a/an ............ , ranging from those that can
kill the patient to those that are not so serious.

a) conformity b) symptom ) spectrum d) adversity

26- Newborn babies are .............. several diseases because antibodies are
passed onto them from their mothers via their placenta.

a) sensitive to b) protected against ) liable to d) adaptable to
27- When an infection becomes established, nursing measures are directed
toward helping the client .................. theillness.

a) combat b) advocate ¢) induce d) enhance
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28- The debate surrounding the embryonic stem cells is an example of the
ethical ..................... , surrounding scientific research.

a)compliance| b) controversy| c) accord | d) rapport

29- Poisoned patients are taken to a special room where their bloodstream

may be. ................... to help quick recovery.
a) detoxified b) deteriorated | ¢) deformed d) decomposed
30- Knowledge concerning human stem cells could be used to ....................

new therapies that may benefit the patients.

a) confound b) ignore ¢) disturb d) devise

31- Scientists in academia and industry are fortunately increasingly
.................. to develop better medical technologies.

a) splitting b) collaborating C) retrieving d) expanding
32- As future generations risK .........cccceeerenns an overcrowded planet, the

government should impose population control. :1

a) withdrawing | b) waiving ¢) inheriting d) abandoning 4

33- A good teacher should ................. get feedback from the students to
improve her/his teaching method.

a) persistently b) reluctantly ¢) redundantly| d) superficially

34- As infants and young children are more..........cee.... ,they need more care
and protection.

a) reluctant b) vigorous c) deprived d) vulnerable

35- The stress in his workplace was .......cccceveeevecnnnane ; therefore, he decided to
quit his job.

a) unbearable b) invaluable ¢) inaccessible| d) unstable

36- He never talks about his ideas directly; he is used to expressing his aims

a) elegantly b) permissibly | c) implicitly d) attractively
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37- Pesticides and chemical fertilizers have caused great.....................
among people in modern societies.

a) incidence b) concern ¢) violence d) well-being

38- Psychologists believe that hard-working is an integral key to success, in
other words, .................. precedes one’s natural abilities.

a) persistence| b) intelligence| ¢) attitude| d) intuition

39- Research has shown that bilingual children develop a capacity

to concentrate, avoiding ..................

a) compensations b) competitions | c) dedications d) distractions

40- This routine operation will take about half an hour, provided that no

a) complications | b) medications | c) palpitations | d) aggregations
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